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QUESTION 1

Which deployment model ensures that management and control plane is cloud-delivered while data continues to flow on-
premises between VMware SD-WAN nodes that remain on-premises? 

A. Hosted SD-WAN Orchestrator/Controller 

B. On-premises SD-WAN Orchestrator/Controller 

C. Partially on-premises 

D. All on-premises 

Correct Answer: D 

 

QUESTION 2

A network administrator is concerned about an Edge that may be approaching its documented limit for the 

number of simultaneous tunnels. The historical data showing the number of simultaneous tunnels over the 

time needs to be checked. 

Where can this historical data be found? 

A. Connect to the Edge CLI via SSH, and /opt/vc/bin/debug-py- tunnel_count 

B. In the Monitoring section for the Edge in question, navigate to the \\'\\'System\\'\\' tab. 

C. In the Remote Diagnostics section of the UI, run the \\'\\'Total Counts dump\\'\\' test. 

D. Use the SNMP manage poll the vcelHealthObject tree in the VELOCLOUD-EDGE-MIB 

Correct Answer: D 

 

QUESTION 3

What are three key benefits of VMware SD-WAN? (Choose three ) 

A. Provision Edges in minutes 

B. Automated configuration of cloud resources 

C. Remove requirement of Edge devices 

D. Gain visibility across any link 

E. Layer 2 VPNs between sites 

F. Reduce the burden on MPLS 
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Correct Answer: BCF 

 

QUESTION 4

Which form factor can a customer use to deploy VMware SD WAN Edge? 

A. Oracle Virtual Box 

B. Open Virtualization Appliance 

C. Docker Container 

D. Hyper-V Virtual Machine 

Correct Answer: B 

 

QUESTION 5

Which statement describes a characteristic of VMware SU-WAN Edge (VCL) clustering? 

A. One VCE cluster can be formed with both virtual and hardware at the same lime 

B. A VCE cluster requires one dedicated interface for HA sync 

C. VCF clusters member sync flow tables between themselves. 

D. VCE cluster members should have unique IP addresses on its WAN interfaces 

Correct Answer: C 

 

QUESTION 6

An administrator has been receiving complaints about their SaaS business collaboration apps. Which network service
should the administrator use to resolve the issue? 

A. Backhaul 

B. Multi-Path 

C. CoS mapping 

D. Direct 

Correct Answer: D 

 

QUESTION 7

An Enterprise customer just acquired a new company, and the Network Enterprise administrator was tasked to integrate
over 20 new branches into their existing SD-WAN network. However, these branches have overlapping IPs with the
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existing branches subnets. 

A. Configure a NAT hand off rule at the VMware SD WAN gateway assigned to these new blanches, translating the new
branch subnets into a new nan-overlapping subnet 

B. Configure a LAN-side NAT rule at the branch device settings, translating its subnets into a new non-overlapping
subnet 

C. Configure a NAT firewall rule in each branch, translating its subnets into a new non-overlapping subnet 

D. Configure a policy based NAT tor each branch translating its subnets Into a new non-overlapping subnet 

Correct Answer: B 

 

QUESTION 8

A service provider needs to ensure that the NOC is notified proactively in the event that an Edge interface 

loses connectivity to its WAN provider. 

Which three methods are available for generating these alerts? (Choose three.) 

A. Slack notification 

B. Text/SMS 

C. Push notification via the VMware SD WAN mobile app 

D. SNMP Trap 

E. Webhook 

F. Dyinq Gasp 

Correct Answer: BCF 

 

QUESTION 9

Which statement is correct about VMware SD-WAN Orchestrator user roles and their associate privileges? 

A. Customer Support User can view and manage then company\\'s network 

B. Standard Admin User can view but cannot manage their customer. 

C. Superuser: User can view but cannot create additional admin. 

D. Enterprise read only: User can view but not modify configurations. 

Correct Answer: A 

 

QUESTION 10
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Employees with an Apple iOS device have been causing congestion on the company\\'s internet What should an
administrator configure to target these devices when creating a Business policy for this issue? 

A. Action Priority 

B. Action Network Service 

C. Match Source 

D. Match Destination 

Correct Answer: A 
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